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Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #1 | #8 | #1 ] #8 | #1 |#8 || Mean | Ns | EW
1| N |None] 6CN7 940 5CN5 400 540 1 NS270 | 12 -4
2 | E| NS 5HWS5 450 5HWS5 450 EW540 | 3 -3
3| s |EwW 3NW3 600 2DN-1 50 550 1 EW420 | -5 -9
4 | W |Both| 4Hsa 620 4HS4 620 NS500 | 3 -3
5| N| NS 3NW4 430 3NW3 400 30 1 EW360 | -2 1
6 | E|EW| 5DXN5 550 4DN5 150 400 9 NS290 | 6 4
7 | s |Both| 3HW-2 200 25S3 140 60 2 NS110 | 3 4
8 | W |None| 2DN3 110 3NS-2 100 | 210 5 NS40 2 4
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
i tHz2% | NS | EW | 2x%3223% | NS | EW | #2 | #4 |[#2] #4|#2[#4 || Mean | Ns EW
1 N [None 5CN5 400 4SN-1 50 450 10 NS270 4 8
2 E | NS 4HW5 450 4HW5 450 EW540 3 -3
3 S | EW 3SXN-3 500 3NW3 600 100 3 EW420 -2 5
4 | W (Both 4HS4 620 4HS4 620 NS500 3 -3
5 N | NS 1NW5 210 3NW5 460 250 6 EW360 4 3
6 E | EW 5DN5 400 5DXN5 550 150 4 NS290 3 -6
7 S |[Both 3HW-2 200 3HW-2 200 NS110 3 -3
8 W |None 18S2 110 1NW-1 50 60 2 NS40 2
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1
b= H2%% | NS | EW | 642235 | NS | EW | #5 | #7 |#5| #7| #5 | #7 || Mean | Ns EW
1 N |None| 5CXN-2 300 5CN-1 50 250 6 NS270 -11 8
2 E NS 4SXN-3 800 5HW5 450 350 8 EW540 -6 -3
3 S | EW 3NW3 600 4HW4 620 20 1 EW420 -5 5
4 W | Both 4HS4 620 4HS4 620 NS500 3 -3
5 N NS 3NW4 430 3NW5 460 30 1 EW360 -2 3
6 E EW 5DXN-1 100 2CS5 150 250 6 NS290 -9 4
7 S [Both 3SS4 170 2SN3 140 30 1 NS110 2 -1
8 W |None 3DN3 110 2SS2 110 NS40 2 -2
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R txzux | NS | EW | 25223 | NS | EW | #6 | #9 | #6 | #9 | #6 | #9 Mean NS EW
1 N |None 4SN5 450 5CN6 420 30 1 NS270 5 -4
2 E NS 4SXN-3 800 5HES 450 350 8 EW540 -6 -3
3 S | EW 5CW-1 100 3NW3 600 700 12 EWA420 1 5
4 W |Both 2HS4 170 4HS4 620 450 10 NS500 -8 -3
5 N | NS 3NW5 460 1NW5 210 250 6 EW360 -3 -4
6 E | EW 2HW-1 100 5DXN5 550 450 10 NS290 -5 -6
7 S |Both 2SN3 140 4SS-1 100 240 6 NS110 1 5
8 W |None| 1NW-1 50 2DS3 110 60 2 NS40 -2
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B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #3 | #10 | #3 [#10| #3 [#10|] Mean | Ns EW
1 N |None 4CN4 130 3NN4 430 300 7 NS270 -4 -4
2 E NS 5HXW5 650 4SXN-2 500 150 4 EW540 -3 -1
3 S | EW 3NW3 600 3DN-3 150 450 10 EWA420 -5 -7
4 W | Both 5HS-1 100 4HS4 620 720 12 NS500 12 -3
5 N NS 3NW4 430 1NW4 180 250 6 EW360 -2 -5
6 E EW 4DN5 150 5DN5 400 250 6 NS290 -4 -3
7 S |Both 2NN2 120 4SN-1 100 220 6 NS110 5
8 W |None 3NN-1 50 1NW1 90 40 1 NS40 -3 4
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B# | DL | £ % MEZ cME ik REAA | COP Datum
bl Hr%% | NS | EW | £x25% | NS | EW | #8 | #1 | #8 #1 | #8 [ #1 Mean | NS EW
1 N |None 5CN5 400 6CN7 940 540 11 NS270 4 -12
2 E NS 5HW5 450 5HW5 450 EW540 3 -3
3 S | EW 2DN-1 50 3NW3 600 550 11 EWA420 9 5
4 W |Both 4HS4 620 4HS4 620 NS500 3 -3
5 N | NS 3NW3 400 3NW4 430 30 1 EW360 -1 2
6 E | EW 4DN5 150 5DXN5 550 400 9 NS290 -4 -6
7 S |Both 2SS3 140 3HW-2 200 60 2 NS110 1 -3
8 W |None| 3NS-2 100 2DN3 110 210 5 NS40 -4 -2
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1
¥l z9zmx [ NS | EW | 5z2s | NS | EW | #4 | #2 | #4 | #2 | #a | #2 || Mean | Ns EW
1| N [None] 4SN-1 50 5CN5 400 450 10 NS270 | -8 -4
2| E| NS 4HW5 450 4HW5 450 EW540 | 3 -3
3| s |EW 3NW3 600 3SXN-3 500 100 3 EW420 | -5 2
4 | W |Both| 4Hs4 620 4HS4 620 NS500 | 3 -3
5| N | NS 3NW5 460 1NWS5 210 250 6 EW360 | -3 -4
6| E|EW| 5DXN5 550 5DN5 400 150 4 NS290 | 6 -3
7 | S |Both| 3HW-2 200 3HW-2 200 NS110 | 3 -3
8 | W |[None| 1Nw-1 50 1852 110 60 2 NS40 2
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
¥l 29zmx [ NS | EW | 25z2% | NS | EW | #7 | #5 | #7 | #5 | #7 | #5 || Mean | Ns EW
1| N [None] 5CN-1 50 5CXN-2 300 | 250 6 NS270 | -8 1
2| E| NS 5HWS5 450 4SXN-3 800 | 350 8 EW540 | 3 6
3| s |EW 4HW4 620 3NW3 600 20 1 EW420 | -5 5
4 | W |Both| 4Hs4 620 4HS4 620 NS500 | 3 -3
5| N | NS 3NW5 460 3INW4 430 30 1 EW360 | -3 2
6| E|EW 2CS5 150 5DXN-1 100 | 250 6 NS290 | -4 9
7 | s |Both| 2sN3 140 3554 170 30 1 NS110 | 1 2
8 | W |None| 2ss2 110 3DN3 110 NS40 2 2
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R txz 2% | NS | EW | 29223 | NS | EW | #9 | #6 | #9 | #6 | #9 | #6 Mean NS EW
1 N |None 5CN6 420 4SN5 450 30 1 NS270 4 -5
2 E NS 5HES 450 4SXN-3 800 350 8 EW540 3 6
3 S | EW 3NW3 600 5CW-1 100 700 12 EWA420 -5 -1
4 W |Both 4HS4 620 2HS4 170 450 10 NS500 3 8
5 N NS 1NW5 210 3NW5 460 250 6 EW360 4 3
6 E | EW 5DXN5 550 2HW-1 100 450 10 NS290 6 5
7 S |Both 4SS-1 100 2SN3 140 240 6 NS110 -5 -1
8 W |None| 2DS3 110 1NW-1 50 60 2 NS40 2
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1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #10 | #3 |#10] #3 |#10] #3 || Mean | Ns EW
1| N [None] 3NN4 430 4CN4 130 300 7 NS270 | 4 4
2| E| Ns| asxn2 500 5HXW5 650 | 150 4 EW540 | 1 3
3| s |EW 3DN-3 150 3NW3 600 | 450 10 EW420 | 7 5
4 | W |Both| 4Hs4 620 5HS-1 100 | 720 12 NS500 | 3 12
5| N | NS 1NW4 180 3INW4 430 | 250 6 EW360 | 5 2
6| E|EW 5DN5 400 4DN5 150 250 6 NS290 | 3 4
7 | S |Both| 4sN-1 100 2NN2 120 220 6 NS110 | -5
8 | W [None| 1NW1 20 3NN-1 50 40 1 NS40 | -4 3
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